Long Term Questions         Team Name______________________
                                               School__________________________
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Directions: Complete each of the problems.  Use an explanation when necessary, but final answer should go in the blanks provided.  Hand in one copy for each team at time and date due. Put names on all pages.  NO INTERNET MAY BE USED!

Due Date/Time_________________

Team Score_____________/10
1.  The streets of a certain city are arranged in a square 5 x 5 grid.  How many ways are there to get from point A to point B?  (Count only the shortest distance).
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2.     Hyun Soo watched with growing impatience as the clerk made out the bill for his purchases.  
       "Wow!" he exclaimed at last.  "You multiplied the three amounts instead of adding them."
     "Sure I did, but it's okay," the clerk replied.  "The total comes to $5.70 either way.  Add them up yourself."

     Indeed, he was right.  What were the individual amounts?


3.  Find the next term of each sequence.






      Put Answer for #3 here

A)  0,  3,  10,  21,  36,  55, 78,   A)   _____________

B)   1,  5,  13,  29,  61,  125,      B)   _____________


C)   1, 2, 3, 4, 7, 12, 15, 22, 30, C)   _____________

4.       Peter put down his pen.  “Dad,” he said.  “Did you know Uncle Fred’s car plate number is like yours?”

         “How’s that?” John asked.  “I’ve got a 4-figure number, but he has five figures.”

         The boy grinned.  “I mean in one way,” he explained.  “You’ve got 6078.  If you square its last 3 digits and then subtract the other digits, you get the original number again.”

          His father was checking.  “That’s right,” he declared.  “So what?”

          “Well, the same routine works for Uncle Fred’s number.”

          He was right on that too, so what was his uncle’s number?

5.      James held out a little cloth bag. 

         “Just marbles, Dad.  About 40 of them, some red, the rest green,” he said. “No peeking, but take one.”

        Dad dipped into the bag and pulled out a green.  Trying again, he got a second 

green, which he placed on a table beside the first.  “You can’t have many reds,” he commented.  “What are the odds against a third green if I try once more?”

        James thought for a minute.  “Just twice what they were against a red for your first draw,” he replied.

        How many marbles of each color did James have?


6.      “What’s new with the chess tournament at school?”  You did tell me you’d lost one game against a girl.”

         “All finished, Dad,” replied Jack. “Everyone had to play everyone else once.  Mike and I were the only guys, and the girls did better than either of us.  Between us he and I scored only nine points in all.”

        “So you played left-handed” his father chuckled.  “How were points counted?”

        “One for a win, half a point for a draw,” Jack told him.  “It was funny the girls all got exactly the same number of points.”

        How many girls were in the tournament?


7.  On a straight road, an inspecting officer traveled from the rear to the front of an army column and back while the column marched forward its own length.  If the officer and the column maintained steady (but different) speeds, what was the ratio of their speeds, faster to slower?



8.  Find two positive 4-digit integers whose product is 33,220,063.


9. In “Numb3rs” Charlie is able to break the cipher to unlock an assassination attempt.

 Decode the following coded message:

VTXLTK’L ZXGXKTEL NLXW VBIAXKL MH ABWX LMKTMXZBV IETGL YKHF MAX XGXFR

10.  Ratio Sudoku

The object is to fill in the whole 9x9 grid with numbers 1 - 9 (one number per cell) so that each horizontal line, each vertical line, and each of the nine 3x3 squares (outlined with bold lines) must contain all the nine different numbers 1 -through 9.

The clue numbers are ratios in the lowest terms, hence the name for this puzzle.  Each clue is the fraction of the two numbers in adjacent cells (to the left and right).  Thus 1/2 can stand for the following combinations of numbers in the two adjacent cells:  1 and 2, 2 and 1, 2 and 4, 4 and 2, 3 and 6, 6 and 3, 4 and 8, and 8 and 4.

Put answers in the blanks provided.


Put your answer for number 1 here





Put your answer for number 2 here





Put your answer for number 4 here





Put your answer for number 5 here





Put your answer for number 6 here




































































Put your answer for number 7 here





Put your answer for #9 here














Put your answer for number 8 here
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